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= 14,000
OH=sANAHE Al 40,000
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== 6,000
o 14,000
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307 QI12t01 A 28,000 23,800 4,200
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02 QU2tFAAMNHEX 28,000 23,800 4,200
== 8,400
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= 0] & 28,000 23,800 4,200
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OsHII0IE 324 NIAAY
2,000,000& =140 2 28,000
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= 8,640
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= 3,840
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= 3,840
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Osd=2 ASTZA 2FA 3,840
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= 960
OJEH 20,000% *24= Dt 63| 2,880
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301 et Z 4,800 4,800 0
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12 JIEt2 &= 4,800 4,800 0
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OsdtE ASZAM =024 4,800
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= 960
OJEH 160,000& *24= It 3,840
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SNMNEASTAMNES 22 (XA 15,536 8,031 7,505
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= 1,000
2 1,000
=204 2,000 2,500 A500
= 1,000
z 1,000
OeHIZUA ASHEDS 2,000
ORS2YSE L DI M
200,000 *103! 2,000
= 1,000
2 1,000
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= 2,350
o 2,350
OLASSH RA(EX) 4,700
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O4U B8 (22HZ,202, 08 ,8H) 576
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= 6,190
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01 At 2t2ldl 1,000 6,500 25,500
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= 0l & 1,000 6,500 A5,500
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OdLrss4 N2, ,F5) 1,000
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03 #AI2HH| 11,380 8,080 3,300
= 5,690
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= 0ff & 11,380 8,080 3,300
= 5,690
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OLdALr=sEHE UF 11,380
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301 LEIEdEZ 1,000 1,000 0
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09 HAAHIXRZ 1,000 1,000 0
= 500
= 500
= Ofl & 1,000 1,000 0
= 500
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OZLi=s4 WS (ME,EFH) 1,000
= 500
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307 QIztol M 17,920 17,920 0
= 8,960
= 8,960
02 QUAHABLASEX 17,920 17,920 0
= 8,960
= 8,960
= 0l &F 17,920 17,920 0
= 8,960
i 8,960
OLL= ZTXHM CIAQ ope
12,800, 0003 *2JH 2~ x70% 17,920
= 8,960
= 8,960
A5 Atgzel ¥ I NA(XA) 10,000 10,000 0
= 5,000
= 5,000
201 et 8,000 8,000 0
= 4,000
= 4,000
01 At 2eltl 8,000 8,000 0
= 4,000
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= 4,000
= 4,000
oAz BREFE AdBx2Y| 8,000
OAg2tel & 838 =& 8,000
= 4,000
= 4,000
202 04| 2,000 2,000 0
= 1,000
o 1,000
01 2L 2,000 2,000 0
= 1,000
iy 1,000
= 0ff A 2,000 2,000 0
= 1,000
o 1,000
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= 1,000
Bolsg 243 A& 3,000 5,000 A 2,000
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= 0l & 3,000 5,000 A 2,000
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O&dE3sl=sd 243 NA
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= 2,100
Hsgsd XA 91,000 8,000 83,000
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SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 750
= 750
O=ZNMEz2d0ts FEUAMREYE 23
X & 1,500
= 750
& 750
307 QIztol M 21,600 25,100 A 3,500
= 12,000
= 2,880
= 6,720
02 QIZBAAMNIEXR 21,600 25,100 A 3,500
= 12,000
== 2,880
= 6,720
= 0ff &F 21,600 25,100 A 3,500
= 12,000
= 2,880
= 6,720
OsZENEs20ts EEUARE 2AH| 21,600
= 12,000
& 2,880
= 6,720
s0Hge ASESUH (s b/ s - &) 1,940,959 2,105,920 A 164,961
= 22,000
& 122,980
= 1,795,979
SELiet 2= 2Y 632,281 680,752 AN48,471
= 7,500
= 624,781
SN2 ZTATHE XIAAR (Z8I) 25,000 27,000 A 2,000
= 7,500
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307 QIztol ™ 25,000 27,000 A 2,000
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= 17,500
02 QUAHABLASEX 25,000 27,000 A 2,000
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OANZ HE 542 IFGA XA
50,000,0008 * 50% 25,000
= 7,500
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ZEUAEE 29 235,281 183,752 51,529
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OZEUAALS 22 BHE LAY
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201 Yur2Iyl 107,250 85,250 22,000
01 AtR2lY| 71,250 45,250 26,000
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OZELAALS FE 2B HH - 2Y
1,000,0002! 23] 2,000
OZEU2 ABS AEY HE 2
5,000, 0008 *13] 5,000
OZEUZIAEE AN HE 29
3,000,000 *13] 3,000
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1,0002 5,000 5,000
OBELAALES NS 29
1,000,000 *122 12,000
OZEL2 4TS 220 2 29D =
= 12,000
o=ale g ns 1,000,0002! 23] 2,000
OBELi2taYS BN HOUE 7Y
2521 %10,00021 250
OWE 22012 Z22& 10,000,008 *33] 30,000
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OYUBME HeEHd X8
10,0002 *20% = 2,000
SSH2 2B 122,000 0 122,000
201 Ysiegyl 97,000 0 97,000
01 AtR22lY| 2,000 0 2,000
=0 & 2,000 0 2,000
oste 22 ME 203| %100,00024 2,000
03 A2 95,000 0 95,000
=0 & 95,000 0 95,000
OFA EEE s4E2 2
1021+1,500,000% 15,000
OUBIZHESASHHH LS & 15,000
OFLSASUEE &It 30,000
ORF2MSABHES &0t 5,000
OXNAKE NHE, 29 N 10,000
OZEBALT SSNS BHE 22 Y3
= 20,000
301 YWBHI 25,000 0 25,000
09 BAAHIXIRZ 5,000 0 5,000
=0 & 5,000 0 5,000
OXNHTE BT 24 5,000
12 JIEP Al 20,000 0 20,000
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= 4,000
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202  Oibl 2,000 2,000 0
= 1,000
= 1,000
01 2LHA I 2,000 2,000 0
= 1,000
= 1,000
= 0l & 2,000 2,000 0
= 1,000
= 1,000
O=gJlIH ¢duE FAHY
200,000& x2H 53 2,000
= 1,000
= 1,000
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= 0ff A 9,028 9,018 10
OsJIAHSEUAIYE 2 o2 9,028
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Osga=f2xY 72,6003 *1.5%8 x3H 2,614
[@)=R=-E=—= = 8,060,000& *12% 968
201 B2 A 127,050 119,050 8,000
01 AR 22|yl 27,050 19,050 8,000
= Ol & 27,050 19,050 8,000
O Y2 27,050
OsIIHLUANYE 23/ &Y
70,000& x5 x33] 1,050
OsJIHLUAME 22 H&
1,000& *3,0000H 3,000
OsIIHLUAISE &l 25l
200,000& *1002] 20,000
OUUHAMY AZTEYNH P
250,000 «12& 3,000
02 =249l 100,000 100,000 0
= 0l & 100,000 100,000 0
03322 ¥ wA224l 100,000
OLU=sINH 2+ 200, 000& *200LH 40,000
O332= ¥ 2dUsIAH A2l
200, 000& *300CH 60,000
206 M Z&H| 50,000 0 50,000
01 MZH| 50,000 0 50,000
= 0ff A 50,000 0 50,000
OdU=sIH w2823 7
20,000& *2,500CH 50,000
405  XHaHFE S| 376,000 361,000 15,000
01 MM =SSFHSH 376,000 361,000 15,000
= 0l & 376,000 361,000 15,000
OUUW=INIH 2 330,000
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| | OMTBT L REHY 22,000
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402 QIAXEOIA 220,000 0 220,000
= 66,000
2 154,000
02 SIZHXHE ALY E X (01X ) 220,000 0 220,000
= 66,000
2 154,000
= 0f A 220,000 0 220,000
= 66,000
2 154,000
OsIIH X (BE) 220,000,000 + 14! 220,000
= 66,000
2 154,000
JHRSESH 2,000 2,000 0
201 Lpreoy 2,000 2,000 0
01 Al222ll 2,000 2,000 0
=0 & 2,000 2,000 0
SIHDSE 28 227
2,000, 0008 * 14! 2,000
SIHSESHEI SR 5,000 10,000 A5,000
2 2,000
= 600
2 2,400
402 DIEREOIM 5,000 10,000 A5,000
2 2,000
= 600
2 2,400
02 SIZFE ALY E X (01X ) 5,000 10,000 A5,000
2 2,000
= 600
2 2,400
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2 2,000
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OSS&EXR= XA 100, 000& *50CH 5,000
= 2,000
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o 2,400
SIHBEsIIREE 22X 21,100 30,900 A9,800
= 6,330
= 14,770
307 QIz2tol & 21,100 30,900 A9,800
= 6,330
o 14,770
02 OQIZAMAIEE =X 21,100 30,900 A 9,800
== 6,330
iy 14,770
= Ol & 21,100 30,900 A9,800
== 6,330
= 14,770
OsJIAHREE sIIHEEY 282 XA
105,500, 000& *20% 21,100
== 6,330
o 14,770
sHIHDNSEAXH 98,500 152,200 A 53,700
= 42,550
= 55,950
101 Ol A4 H| 65,000 50,700 14,300
== 32,500
= 32,500
04 JI2ZtHZ22XARAsSE =+ 65,000 50,700 14,300
= 32,500
= 32,500
= 0l & 65,000 50,700 14,300
== 32,500
= 32,500
okvlEzY ==& Mo Z2HE ol
21 (54) 65,000
= 32,500
= 32,500
202 044l 1,500 1,500 0
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OIMNYUHBAHECE HBOI A D
= 1,500,000 x1H 1,500
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o 1,050
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== 9,600
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== 4,800
o 11,200
HEYE SOIHAUHAIE A~ &X 330,000 300,000 30,000
401 AlEHIZL20H] 330,000 300,000 30,000
01 Al&H| 330,000 300,000 30,000
= 0l & 330,000 300,000 30,000
Os I HLUHAIE A& X100 330,000
nEs sgIAH K& 30,000 0] 30,000
= 15,000
= 15,000
405  XHaHFE S| 30,000 0 30,000
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SN EYEY
H: SR ASSH(sHHY /s% - s5&)
e =HI| A= (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
405 XHAHF S H| = 15,000
o 15,000
01 XML =2SFSH| 30,000 0 30,000
= 15,000
iy 15,000
= 0l & 30,000 0 30,000
= 15,000
= 15,000
Ou=sEE sYIIA XN (WEII) 30,000
= 15,000
= 15,000
HESHAMI(JIEHDIE 290,960 308,580 A 17,620
Jl2db(sgd8=) 290,960 308,580 A 17,620
HYF=XFH| 6,900 6,900 0
203 YR =&Y 6,900 6,900 0
01 J|A2I IR =&Y 3,300 3,300 0
= 0ff A 3,300 3,300 0
OJ|22I Y RF=EH| 275,000& x12& 3,300
04 ENSIIERF=LAY| 3,600 3,600 0
= 0ff A 3,600 3,600 0
ORNMSIIRF=XH| 300,000& x12& 3,600
282 AH| 220,460 241,260 A 20,800
201 B2 A Y| 220,460 241,260 N 20,800
01 Ar®2telt] 83,420 104,220 N 20,800
= 0ff A 83,420 104,220 A 20,800
O LBt 2H| 38,500
o=2g9+Y 11,500
oga =g 50,000& x2H *115 11,500
O =&l 4,608
O A S X 22|l 28,812
OH& I oA 2te| H] 873,000 x12& 10,476
OAEorA 2He| H] 242 ,000& 128 2,904
O&&II S A2l 300,000& 128 3,600
OF A2 oFAH| 986,000& 128 11,832
02 =249l 137,040 137,040 0
= 0l & 137,040 137,040 0
03322 % MA 85,100
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X XH -
S =

SN sAFMY
MM 2HHH (JIEH/DIEH)
ool J2AH (s D)

o
“
'
Y

x - . 0 & o H = ol -
SH - BA(BH) - NRAY - BES e i BlRE2
OoNIIK3 6,000,000& x12& 72,000
Oax=E23 1,000,000& = 12& 12,000
OJIEtEE2=3 91,6663 x12& 1,100
O A& EHIRAIHI 1,940
O Xt gt 2| 50,000
04 gl 63,600 60,420 3,180
202 Ol 63,600 60,420 3,180
01 S 63,600 60,420 3,180
= 0fl & 63,600 60,420 3,180
OJI2gR==H0HI 200,000& x20H x12& 48,000
O32UWEZEdAHI 65,0003 x20H x12& 15,600
HRES (s3I ) (sElYb/sY - &) 62,000 52,000 10,000
UWEAHAXE (s EH) 62,000 52,000 10,000
SHELENSELIN HE3 62,000 52,000 10,000
701 DItz HSEE= 62,000 52,000 10,000
01 JIEtalHE =3 62,000 52,000 10,000
= Off & 62,000 52,000 10,000
=10 A 30,000
OMZEItE 213 32,000
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